Math 9 5.2 Notes 2 Name:
Graphing Linear Relations

In Section 5.1, we learned that relations can be shown as equations (2 variables) or as
a table. If these ordered pairs are joined on graph paper, and the line is straight, then it
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2. A car can carry a maximum of 90L of fuel. While driving, the car burns 12L/h.
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Write an equation for this linear relation: Let h = # of hours and F = Amount of fuel
remaining.

Remaining Fuel = Maximum Fuel minus 12 X # of hours - P - ‘
. Freg0 ST o e -2+ 7Y
——9 When will the fuel tank be empty? —
Yhio reant het + =0
I, wm\!i.a dﬂw&—@ ‘P _
et pro — O —TH
2. solve 4o T 90 _
. e
—12z 12

7].5 houd 57(



3. Ataxi charges a start up fee and a per minute charge. Use the graph to determine

the start up fee and per minute charge.
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Write an equation.

C=0.56n+250 o

rate of chango = Y

ho { Zﬁ»’“‘%"‘%

(!ﬂc;

\

Cost
C;&Mﬁ+

2.

=050(t)
cpsoizt

co

M=

st¥ =¥

{

A
)fﬁ/

¢

)

el
oy
S,

b

XV
5. Find the Rate of Change of the line joining A(1, 3) and B(6 4)
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6. Use the rate of change to find another point on the line.

a) Draw a line with a starting point of P(2, 1) with a rate of change o
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b) Find another point on the following grid.
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